BHf1—-2
B 15— 3 (56 2BIHR)

w = #% & F ()

it A= 7E 2 2 A O HEEE R ZE
SEEDEZH (S1E)
@Rg | FOE)IHiEEHS< Y EITRES
1 IRADES
BB S0 %Jffﬁ AR
- I T & -5 < 0 HEEE T 4
@EE | 8320000 (IR & 7 1 55
& =t 320,000
2 HZHOL
- £S5 )
N B SEsE et ) A T
b XTSRRI EE
BEERE, SNNes 286460 I8
IBEEFS VENRIE 17.215@ 12
VERM T 18,058M I8
ISERIREDR 139610 =
E6DMNE, MNESE 302620
PEZDONHD ZSMD=S 24,0008 7
surEeomiE | 140000| 267,144| 267144| -127,144|F53, oEvEORIE 84670 B
TER IE—mi 350058 =
FSy 6,000 3
EEAR 7213@ P
IR R 19,676 P
% TR 276410 P
vy TRRE 220008 P
mEEme | 20000 10490 10490 0,510 | IEERIFERZ A 10,4900 =
wAsEs | 85000 33000 33000 52000|F@ERH 33000 22
N AR HMREE 5366 8
(RIE 20,000 6,366 6366 13634|10T Lk 70008 b
MEE 50,000 3,000 3000|  47,000|zmemEAL (B 30008 &
S FENER RERR
FHER 5,000 0 0 5000|| oo o8 RIS 69265
EEEES 60,000 =EENS 46472
o PPEIL 50,000 PPEI& 77,530
5 320,000| 320,000| 320,000 O smmisspin 30’00()‘ SR 24451
JILA(G) 60,000 JILAG) 63262 |
Hiig3Z@ 60,000 Hhi3Z@ 39,000




